Chapter 3 Task B Solution

1. a) 


[image: image1.emf]
b) 

[image: image2.wmf]{

}

Domain , 114

xx

Î££

¥

 


Since the domain represents the number of days, it should start at 1 and not include any fractions or decimals.

c)  
The graph shows a quick growth then a quick decrease. I would use two exponential functions: an exponential growth function for 
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 and an exponential decay function for 
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d)  
First differences would be used and would give valid data if the function were linear, but from the shape of the graph we can see that it is not.

e)  
Using exponential regression on a graphing calculator, for days 9 to 14, the function is 
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f)  
Using the graph, y < 1 on day 18. This is a reasonable estimate, because for an exponential function, 
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